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Ejercicio 4. 

m.c.d. (12, 4)= 4 

Divisores de 12 =1, 2, 3, 4, 6, 12 

Divisores de 4= 1, 2, 4 

m.c.d. (16, 21) = 1 

Divisores de 16= 1, 2, 4, 8, 16 

Divisores de 21= 1, 3, 7, 21 

m.c.m. (3, 15) = 15 

Múltiplos de 3 = 3, 6, 9, 12, 15 

Múltiplos de 15 = 15 

m.c.m. (14, 10) = 70 

Múltiplos de 14 = 14, 28, 42, 56, 70 

Múltiplos de 10 = 10, 20, 30, 40, 50, 60, 70 

 

Ejercicio 6: 

12,9 x 0,02 = 0,258 

0,326 x 4,3 = 1,4018 

5,203 x 3,17 = 16,49351 

288 : 2,25 = 128 

8,428 : 49 = 0,172 

64,505 : 0,095 = 679 

 

Ejercicio 7: 

5 % de 280 = 14 



9 % de 4.900 = 441 

15 % de 2.500 = 375 

36 % de 6.800 = 2.448 

 


